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Section 1 - Paperl-General English

1) Choose the synonym of the given word:
apathy

A) indifference
B) hope

C) sympathy
D) friendly

2) Choose the right option to fill the blank:
The crumbling building was

3) Choose the correct answer:
Bread and butter still my favourite breakfast.

A) was
B) were
C) are

D) is

4) Choose the right option to fill the blank:
| have a lot of work, I might still come.

A) eventhough
B) though

C) so

D) but

5) Choose the correct answer:
He took the wrong dosage and it his problem
so much that he had to be readmitted to the hospital.

A) aggrieved
B) assuaged
C) aggravated
D) alleviated

to the ground.

Techofworld.|
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Section 2 - Paperl-Education and General Awareness

6) Which of the following statements is INCORRECT with
relation to the 'New Delhi Declaration on education' which
was adopted by the BRICS nations in 20167

A) Ensure Inclusive and equitable quality education and
promote life-long learning opportunities for all

B) Initiate actions to formulate country-specific targets
within the broader scope of the SDG4

C) Committed to the SDG4 and corresponding targets set
within ‘The 2025 Agenda for Sustainable Development'’

D) Share the best practices available in BRICS nations on
collaboration in education, research and innovation

6) 2016 6a §9 QYA TR QLG TA QA GAUGRT

CUITAIRIAT AN6R DIRNYS 679 0B OR g6% ?

A) QFEE ¥8° QUIRQ CR qéaal S8l IREe KGRI 99 AL
Q19 AR F19F JBS IS IR 671QITG 622

B) SDG4 @ 992 46l FI6Q Q1 QIg-FE) ASugee AR
AQERA 654

C) SDG4 g goas 1e° ‘e aai8l AR 2025 QINge16a
gQl ARG RAY 2R Q4G

D) &%, 916984l 99° QERQER ALELIT AUER §F UIATLER
UMD 699 VIGYFR IR FTa

7) Which of the following categories of education do NOT fall
under the purview of the All India Council for Technical
Education (AICTE)?

A) Medical education

B) Architecture education

C) Management education
D) Pharmaceutical education

7) 2ml 2821 FIQGAN TQ 65RTAIN YFERAR (YUIRITR) QA
2RIIRER FIRAYS 609 96ia JaI 2IYRIE ?

A) eRERln da

B) 2I1G6699Q dal

C) QYERR6rE S99l
D) TiFIQieRIR sl

8) In 1959, which committee on Religious and Moral
Education affirmed the need for a deliberate inculcation of
moral and spiritual values?

A) Mudaliar committee

B) Kothari Commission

C) Sri Prakasa Committee

D) Sampurnanand commission

8) 19596@, diFl @ 6F6@ A8l QUER 66 QTG CHoRGI e°
ARIFRG! ARIEARIA FRIGS 2BFEE AT AARFIQ 99
QUEQ QB G ?

A) (@Rq @88
B) 621011 @8iag
C) §19918 68
D) @gdiee ofiaq

9) The representatives of each State in the Rajya Sabha are
elected by the elected members of the

A) Citizens of that State

B) Lok Sabha

C) Legislative Council of that State
D) Legislative Assembly of that State

9) QIFIANIER UELHR QAIFYA YTFUQ 609 FRIPE QAT FIal
06 99

A) 697 QIR FIIRRT

B) &nlaQel

C) 692 QIfia QlIRe 968

D) 69% QIGYQ SIa

10) Which of the following is NOT a renewable source of
energy?

A) Wind energy
B) Solar energy
C) Natural gas
D) Tidal energy
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10) FORYS FRIQ 6966 NG 920 99 GY 96T ?

A
B
Cc
D

999 98
6063
JIpe Q1Y
220 6@

11) As per the Election Commission of India, how many
Parliamentary constituencies are reserved for Scheduled
Castes and Scheduled Tribes?

11) Q96 GIIGR 2isAITE QAN 29900 @15 8 A9LP0 GaeIE
Qd AR 6R6SIT A°AQR FAIOR A9 A°RES GSIAIRE ?

A) 131
B) 123
C) 151
D) 183

12) Antifreeze solution is used in car radiators at higher
altitudes. What role does this antifreeze solution play?

A) It increases the speed of car at high altitudes

B) It lowers the water's freezing point used in the radiator
C) ltis the source of heat to the car environment

D) It increases the water's freezing point used in the
radiator

12) 2@ 99 IR6Q Q19 QUGG 66 IETR ARIAG QUaFe 99 |
4% 21908 AUAR 699 IR QIF 96Q ?

A) QB AREA 92 AI0Q 696 9 @6a

B) QIeNSA 60 Q499 AIFR FIaq 12l /F 96
C) Q19 98694 9% 92! Q8196 @2 263

D) QEYeQ 6Q ULLe JIfia Bieg 19l 2e K6

13) Which of the following is NOT the examination
conducted by the Council for the Indian School Certificate
Examinations (CISCE)?

A) Indian Certificate of Secondary Education (ICSE —Class
X)

B) Certificate in Vocational Education (CVE - Year 12)
C) Indian School Certificate (ISC - Class XII)

D) Indian General Certificate of Secondary Education
(IGCSE - Class X)

13) @8] n ATTeRq weFerag (Tueeede) aiR
@100dR gIel FINYS 674 A18l JESIRE! QRN Q1T ?

A) Q8217 ATTERT AT 69699I1 gAY (ARG - X
6861)

B) QAST6RE AR 6RERARIR YF6RdR (TR - 12 @F)

C) 28217 94m AGTea] (21692d - XII 65461

D) 282Iq 6969l AGTERE 2T 6A6RLIR1 NGeadR
(2IREE9ER — X 6§411)

14) The targets which are sought to be achieved through the
implementation of a variety of educational programs and
schemes is referred to as

A) Personal objectives
B) Personal goals

C) Educational objectives
D) Educational goals

14) Q0 go0 FRRIKNGA B CURAIGRAINS FIRIFIE! TIAN
AU 2QI A FEq @6 @RI

A) MBS ALY
B) Q42910 ma
C) 6388 Qe
D) 688e @@y
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Section 3 - Paperl-Reasoning

15) What is the next number in the given series?
29, 40, 53,68, ?

A) 80
B) 75
C) 85
D) 70

15) goR G716 2Rl THIGFTFa IaKe AT A¢ 621 ?
29, 40, 53, 68, ?

A) 80
B) 75
C) 85
D) 70

16) Ramesh's father's sister is Lata. Lata has only 1 brother.
Ramesh is related to Lata's mother as

A) Uncle

B) Grandfather
C) Grandson
D) Father

16) Q6019 QIUIT Q6162088 MGl | AGIFA 6TIT Qa1 QEAE
MRl T Kl 6269 7

A) Qsea
B) exe@Idl
C) @@

D) Il

17) @#& 'is coded as 123 and ' @!$ ' is coded as 367, then
‘@' will be coded as

A)
B)
C)
D)

RN d

17) @#& ' 123 QIR 9e° ' @!1$ ' @ 367 WI6Q 6716 RS FAUIIRE,
6069 '@ q AUR 6RIR 9B GILS

18) If RAT is coded as 39, then ANT will be coded as

Sowm>
WL W W
B WwWN

18) 9@ RAT q 39 RI6Q 6Q17 92 FAUNRE, 666 ANT @ K9Q
6QI3 @8 QaIde

A) 32
B) 33
C) 35
D) 34

19) What is the next number of the given series?
333, 337, 353, 417, ?

A) 517
B) 434
C) 559
D) 673

19) 9OR 9FI6R 2ol AHIGENN TR LT 96 629 ?
333, 337, 353, 417, ?



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

20) What is the next number of the given series?
888, 1332, 1998, 2997, ?

A) 3371.5
B) 4991.2
C) 3774.2
D) 44955

20) 998 9¢16Q Q1 A°FNIFERa IR A°HIT 94 629 ?
888, 1332, 1998, 2997, ?

A) 33715
B) 49912
C) 3774.2
D) 44955

Join Us-' > f
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Section 4 - Paperl-Teaching Aptitude

21) Who pointed out that due to varied circumstances and
privileges children show differences in performance and
achievement?

A) Rousseau

)
B) Aristotle

C) John Dewey
D) Pestalozzi

21) @4 Q6IRgeR 69 GER UGRE B QaIgEQIT 621 ANIAIEE
gedR 8 ATFVIER TR 69HRAIT ?

A) Q68

B) 2IR6RUoR
C) 9q g%
D) 6aai6RIG

22) Kothari commission is known as

) Primary Education Commission

) Higher Education Commission

) National Educational Commission
)

A
B
C
D) National Education Commission

22) 610101 S8R 699 FIFIER AaEe

A) glefie da efee
B) Q% 99 /6%
C) Q1918 d9I19¢ @A89

)
)
)
D) fI912 §Q1 Fas

23) According to idealists, which of the following is one of the
main aims of education?

A) Physical development

) Intellectual development
) Self realization
)

B
C
D) Social realization

23) AIRQIRNIE AR FIRYS UG 69T FFNQ 9@ YEIS QETEY ?

A) 410109 GRl4
B) cQlaam I@idl
C) 21g) 631

D) AIIGR 691

24) The theory of emotional intelligence was given by

A) Daniel Goleman
B) Thorndike

C) Speaman

D) Simon

24) Zisade 9&a daie @4 gaIe @teem ?

A) QITIM SRR
B) 24eiaq

C) doemig

D) ARa]

25) For a teacher, job satisfaction

A) affects classroom environment
B) improves social efficiency

C) certifies effectiveness of teaching
D) improves moral judgement

25) @64l 499 U VG 6aR A

A) 659108 ORI IR @R |
B) QFIFe 980l SR8 @6 |

C) SRIQINY 9RIRdIRalg IAISS Q6Q |
D) 6709 Gduea QIS 264 |
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26) When one uses the principles of science and technology
into the techniques of education, the process is called

A) Education in Technology
B) Innovative education

C) Operational education
D) Educational Technology

26) 6060667 966 GHIG G 696G dFIRg IR H166Q
AC6RIG P66, 638 9FIG 98 QRIAIN ?

A) 696QIERITER Sl
B) 2@ee

C) 9G0IRal Sgl

D) SRI9% 656QI6nIG

27) The theory of cognitive devlopment is associated with

Maria Montessori
Kohlberg
Jean Piaget

A
B
C
D) Anna Freud

27) 6962 SRR ARIST Q19 AT GGF 26T ?

A) QIR C1648Q
B) 6qlReel

C) @] Jd6a9

D) 2RI 6T9R

28) If most of the learners in Heera's class are weak she
should

) teach fast and complete the syllabus

) stop bothering about weak students

) advice them to take extra coaching

) teach at their pace with needful strategies

oOomX>

WtsApp/Call- 8596976190

28) 99 20T 69919T6R YRS FQIE1 A0ATIIER IR, 6969
64 Q6 QA9 AGQ ?

A) 41 9QIg 6 QAIOIGS 689 @ag

B) Q9% 218 698 S2Ra9l 90 969

C) 6Qrliog 2009 6q16° AIR aQuAd Jaig

D) 6QrIew @EQ! 2gUI6Q 2IQdie AUILl QLG FRIGIR 99

29) Sometimes teachers appoint fellow students to help
students who find it difficult to cope up academically in
school. These students who help other sare called

A) assistants

B) buddies

C) young teachers
D) helpers

29) 696R696R 692 FIGRISKING AN IR 676GR 818 §1 81
FARANER FYS F9F 6ULAIES IN6R AI0F A°Yd AR VISE FIR |
2R4E AR KRR IE SIGRISIT @6 QRIAN ?

A) QLIERAIER
B) fignlea

C) 4@ dgaeisa
D) QIIiRIRICIER

30) The NCERT is working on finalising a national curriculum
for playschools across the country. It is likely to be
introduced from

A) 2018-19
B) 2020-21
C) 2019-20
D) 2021-22

30) 62450 29I 6OYRGEe AR YRdRZIBE 9@ QIS AIoIge
g0 @091 AU6R A7 K9 | 92 69 F13LI 09 NIY 621 ARIFR
Q@ ?

A) 2018-19
B) 2020-21
C) 2019-20
D) 2021-22
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Section 5 - Paperll-Odia Language

515 ‘G2 6990 €W ARINR QF ?

) 2OAKS
B) QaYS
c) ARISE
D) QaRe

4
32) PG’ 49Q FAQ10 9 R |

a) 048
B SQ09®

c) Q8lew
p) 29148

- ‘ARAIBIE QBA'AFR 22 @€ ?

A QUERQ Q2 R8I

B) @rlie avia
) aQ 649 629l

ala Jaalla(a]

C
D)

24) ASORER QEI0 QIR RNIER QIRIQ QLE QQIAN ?

p) A8
5 QRS
c) 08
D) @2

Join Us-
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35) L1R9Q KIS 4! 6QHISO aeda §6a9Y FEa @

A) 9609199
B) QR QR

c) ®I0 Qe
p) LR

35) ‘ae R’ 60U IR AR ?

A) et

B) cdide

37) Q1R 6Q6OIF AR AR §9?

A) QIR ARl
B) oF alel
c) 2R AR
D) 99 AR

38) Qal0e’ 0l 9§ 94?
A) UIREQ AOUACAIA QER
g) SR6Q AR

c) 996Q 298

p) 996Q AR

30) 7 QN QIR YR - 9 QIVYER CRUT QFRIRS 99 ?
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40) S8R 6QW 9dYHQ A9 ?

A) ofe
B) Qea
Q) @l
D) @

i €€ 94Q Q€ QFe fife ceea ‘@, ‘@’ gl

@

&) ‘QIAR’ GQ6Q ‘@R’ RAAT LW A2CQ INRP 6L ?

g 986
c) 928
D) 9648

43) TR’ 696Q Q” AAQT 6OU 2AUCR QIR ?

A S

B) 648
c) er

D) faQ1e

44) ‘ARLOR’ 420 FAQIO AACARIQ 6L 6Q |

A) o
B) LORe
c) 2R
D) a&ee
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45) ‘A0’ G ‘QAQ’ IPQ IQRICARIL FQQ IR YO 6|
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Section 6 - Paperll-Mathematics

46) The number of elements in a set is known as its

A) augmentation
B) subset

C) cardinality
D) powerset

46) 6515~ 627 6@ 8Ql AR FlIAEQ A°oMIg LI Kl YRIKN 7

A) 9&

B) Q969
C) REImE
D) Qigia 699

47) The compound interest on Rs. 8000 for 2 years at the
rate of 5% per annum is

A) Rs. 800
B) Rs. 840
C) Rs. 860
D) Rs. 820

47) Qi@ 5% QI 21961 2 9d Qial 8000 SF16Q 9YE QI 6260

A) Rs. 800
B) Rs. 840
C) Rs. 860
D) Rs. 820

48) What number must be added to each of a, b, m, n, so
that the sums will be in proportional?

A) (bm-an)/((a+n)-(b+m))
B) (bm-an)/(a+b-(m+n))
C) (bn-am)/(a+n-b-m)
D) (an-bm)/(a+b-m+n)

48) a, b, m, n 60 gesiad AFe FAG R6Q 6919 62917 2 699
Q. QILI FREQ ANAGER 2IQAITR 629 ?

A) (bm-an)/
B) (bm-an)/
C) (bn-am)/
D) (an-bm)/

(@+n)-(b+m))
a+b-(m+n))
a+n-b-m)
atb-m+n)

—_——

—_—

49) What is the HCF of 75 and 2437

A)
)
)
)

o0Om
OO W

49) 75 9Q° 243 @ 91.41.9 6963 ?

A) 3
B) 6
C) 5
D) 4

50) V5 and 4" can be represented as respectively

A) 125 and 16

B) 125and 4

C) (125)"6and (16)"®
D) V125 and 16

50) V5 96° 4'? @ Q2IRET 69907 QULINE ARG

A) 125 and 16

B) 125 and 4

C) (125)" and (16)"®
D) V125 and 16
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51) The length of the tangents from a point A to a circle of
radius 3 cm is 4 cm. Then distance of A from the centre of
circle is

51) 39 A Q < 627 QUIAIE RIY IR 98 98 AT6RHIR 6T 6208
¥ 61 1 6869 989 635 OIQ A @ §9G! 668 ?

52) If two positive integer m, n expressed as m = pg® and
n = p°q? also p and q are prime numbers, then HCF(m n) is

52) 9@ 9@ 98I gdasy m, n 9918 KRIAIRE m = pg® e°
n = p3g? QIER, AT p Ie° g 6dlam Q°Elyl, 6669 €.41.5 (M,Nn)
69Q8E

A) k< 1/4
B) k<4
C) k>4
D) k=4

53) G AARRE X2 + 4x + k = 0 @ QIYQ Ie° 8@ O 9EF 6669

A) k< 1/4
B) k<4
C) k>4
D) k=4

54) The square root of (ab + ac + bc)? - 4abc(a + ¢) is

A) ab+ac-bc
B) ab+a+b

C) ab-ac +bc
D) ab+ac-b

54) (ab + ac + bc)? - 4abe(a + ¢) Q UFR 676@

A) ab+ac-bc
B) abta+b

C) ab-ac +bc
D) ab+ac-b

55) A rhombus is a parallelogram whose diagonals meet at

A) 30°
B) 120°
C) 60°
D) 90°

55) @ QgQ 6238 691G ANLRR 687 AILIA FLIFR 6@6Q
wgl6a fine 928

A) 30°
B) 120°
C) 60°
D) 90°
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lLMmuy 1w Udtel v LY L LU wJaia

56) If the sum of the roots of the equation x2- x=a(2x- 1) is
zero, then value of 'a' is

A) -05
B) 2
C) 2
D) 1/2

56) 98 AR X*- X = a(2x - 1) Q FJAQ AT 6208 FN, 6569
‘a’ @ Fa Q60

A) 05
B) 2
B} &
D) 1/2

57) The equivalent ratio of 2:3 is

A) 3:2
B) 15:10
C) 1:2

D) 10:15

57) 2:3 @ 29Qd 2QAIG 6268

A) 32
B) 15:10
C) 1:2

D) 10:15

58) If two circles touch each other externally at C and AB is
a common tangent to the circles touching at the points A and
B on them respectively, then angle ACB =

A) 60
B) 90
C) 30
D) 45

58) 9@ 995 98 T0YAg IRY 960 C 0K 94 96F 1a° AB 6298
Q8 g8 @ ARG A6ad QIT A2IG6e A 9Q° B 8960 94 @98,
6969 6Q161 ACB =

A) 60
B) 90
C) 30
D) 45

59) For any two sets A and B, (if ' denotes complement set)
which of the following is FALSE?

A) A-B=ANB'
B) A-B=A-(ANB)
C) A-B=A-B'
D) A-B=(AUB)-B

59) 60 6@16d GG 635 A ¥Q° B QIx, (97 ' 9o 699 @ 969
@6Q) F6elIB AUQ 66T QR 26T ?

A) A-B=ANB'
B) A-B=A-(ANB)
C) A-B=A-B'
D) A-B=(AUB)-B

60) An amount of Rs. 2000 is invested at the rate of 4%
compounded annually. What is the interest amount earned
after 3 years?

A) Rs.22497
B) Rs.249.7
C) Rs. 240
D) Rs. 3488

60) @I8@ 9998 Gl 29 4% 6@ 2000 G G649 62RF | 6962 3
Qd 062 QIR AT 6969 ?

A) Rs. 22497
B) Rs.249.7
C) Rs. 240
D) Rs. 3488
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Section 7 - Paperll-Social Science

61) The mid-day Sun is exactly overhead at least once a
year on all latitudes

A) in between the Tropic of Cancer and the Tropic of
Capricorn

B) beyond Tropic of Capricorn

C) beyond Tropic of Cancer

D) in between the Antarctic Circle and the South Pole

61) adig ‘E}hﬂ‘% 21308 QUREE 26a ATS Z[LPEEa £18 Qa6 el

A) G6¢ §I8 9e° FRQ Q1B AUER
B) 199 QI8 019 986a

C) @ae 9IEQ G96a

D) @67Q 9& I9° @Fd 6719 F1I6Q

62) Which one of the following is NOT a Anthropogenic
cause of soil erosion?

A) Uncontrolled grazing

B) Erosion by water

C) Slash-and-burn agriculture
D) Deforestation

62) 60 6Q4E CARINNR AgAIgE B8 g6L ?

A) 25980 098 @ QeI
B) &% TIQI 9%

C) 6aIg 919

D) a6 /l4

63) The positions on latitude lines above the equator are
called:

A) South
B) North
C) West
D) East

63) 39 609l QA A Q Foq @ QRIAN

A) oB4
B) @eQ
C) adiq
D) 9<

64) Shivaji had formed a council of eight ministers that
administered the Maratha empire. This council was called:

A) Astha Mantri
B) Astha Siddhi
C) Astha Sena
D) Astha Pradhan

64) F1QI01 AIFIFHR YUFVIRRI TIR TS 2O T¢I ARG 669 R
dREL GI0F KFC6M | T 9R99g QRIUIRYMI ;

A) 29031
B) 2&d&
C) ageas
D) 28R

65) Which of the following political leaders coined the slogan
'Jai Jawan Jai Kisan'?

A) Subhash Chandra Bose
B) Dr. Rajendra Prasad

C) Lal Bahadur Shastri

D) Sadar Vallabhai Patel

65) FARGYE FQ 699 AIFCTIR 6991 '9A I9IQ 93 FAIF 6ISIR
QIeRI 6ORLIER ?

A) 49IQ 6% 6919

B) @l QI6sg g4I

C) AR QIIGA QI

D) 9919 9K QUQ TSR
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66) As per the Article 80 of the Indian Constitution, what can
be the maximum number of members of Rajya Sabha?

A) 243
B) 250
C) 236
D) 252

66) QAGTA AAIGR dIGI 80 BQACR QIR ATRI@ ALY
QY 6265 621RIER ?

A) 243
B) 250
C) 236
D) 252

67) Kalibaghan is an important site of Harappan Civilization.
It is located in which of the following states of India?

A) Uttar Pradesh
B) Madhya Pradesh
C) Rajasthan

D) Gujarat

67) @RISR 209 ANIFIA 99 JRRYE FIR AR | 12 NG 694
QARIER P1ede ?

A) Q@9 g6ad
B) ¢laly g&a4
C) Qegia
D) geqls

68) Who is the ex-officio Chairman of Rajya Sabha?

A) Chief Minister
B) Prime Minister
C) Governor

D) Vice-President

68) &4 62REE AIFY ANQ FITYRIN 212IE ?

A) F8iiaa
B) QulIGeIm!
C) QugyaiR
D) ad-QEas

69) Who among the following is one of the Ali brothers' who
started the Khilafat Movement against the British
government?

A) Maksud Al
B) Liaquat Ali
C) Shaukat Ali
D) Salim Ali

69) 27 QIg GE& AU F6RI AN §FE Alew FQE6R HRITES
2CRIRE 2IeA QGgeR ?

A) 999 2@
B) AuIag oh
C) 6dlaq am
D) a@e @@

70) Who wrote the book 'De revolutionibus orbium
coelestium (On the Revolutions of the Heavenly Spheres)'?

A) William Harvey

B) Aryabhatta

C) Aristotle

D) Nicolaus Copernicus

70) @ Qeepadeq 25ee calendar (219919 699e Jagae)
g9e @4 0ol @Ggsm ?

A) 8Rgq 2e

B) aidies

C) 2IR68Ion

D) Gexing 6R199899
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71) When did Article 21-A and the Right to Education (RTE)
Act come into effect in India?

A) 4th November 2002
B) 6th March 2009

C) 1st April 2010

D) 15th September 2004

71) QUAGER 6REQ ARl 21-A Gal FIGD ANFIQ (A § K)
FIIRIQT 6aR ?

A
B
Cc
D

4 geaga 2002

6 Qe 2009

1 4@m 2010

15 62645@ 2004

— e =

72) The Cryosphere refers to any place on Earth where
water is in the

vapour form
gaseous form
frozen form

A
B
Cc
D) ligquid form

e =

72) 6216820 2910 69693 Q19q GLINIBAIN 6890166 QI

A) QIF QIZIQAISI 21QQI6A &I
B) QI91a 229I6Q &I
C) SAIS 2agI6a 2

)
)
)
D) GoR 2eIEa &

73) The termination of a session of the House by an order
made by the President under article 85(2)(a) of the
Constitution is called:

A) Summon

B) Prorogation
C) Dissolution
D) Adjournment

73) Q0GR 2624 FIRU , IRIIGR IRl 85(2)(a) 21R6R G2
4@ 2RJEIER] AT 6aINEI § GRIAN |

A) QO / aIQIe
B) €@¢

C) Qe Qe
D)

74) Which of the following layers of the atmosphere is
ionized by solar radiation?

A) Exosphere
) Troposphere
) lonosphere
)

B
C
D) Mesosphere

74) 5] A90 609 39 6d1a GFA8 IRl 2B IS 621N ?

A) 19q O4q /e2der

B) 69109 &4 / QIg A99a 5714 29
C) 2194 99

D) 676QIq &96) ISR 19K

75) Which of the following options refers to the dark organic
material in soils, produced by the decomposition of
vegetable or animal matter?

) Biogas

) Cow dung
)

)

A
B
C) Humus
D

75) 989 @l ag& ARG 6ARINI V6Q YLE 62IR AITER gal
@Rl 6500 QNG FIRYS 6a6 Gead QdIag ?
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Section 8 - Paperll-Science

76) Parthenocarpy is a process in which

A) fruit formed due to presence of more than one embryo
sac in the same ovule

B) fruit formed without fertilization of ovules

C) fruit formed with fertilization of ovules

D) fruit formed due to absence of more than one embryo
sac in the same ovule

76) QlcdenIic 4@ g@al Qe @

A) QI QIOR 6RIT6R IRRID Q¢ 614 F2AE TR

B) QU@ 6Q1F6Q SRR @ 6291 621 FaR T

C) QI9R 6RIF6Q SERIE 6aIg G2IF T

D) 4RI FIOR 6RIT6R IARIF §é © 29I 6y SR TR

77) Mycorrhizal fungi imparts resistance to host plants
against pathogens. But, primarily they

A) liberate ammonia from plant and transfer to the soil

B) absorb phosphorus from soil and transfer to host plant
C) liberate phosphorus from the plant and transfer to the
soil

D) absorb ammonia from soil and transfer to host plant

77) QIRERIQIRRIR K@ 6018 QALY JIcIEF] 95 9EsRIAT!
gele @82 |1 @g glfie alee erl

A) Q9 671G 8169 9e° AITQ Q0N
B) QISQ 0Arag Jad @69 e° 6TI8e QEQ TOI
C) Q8@ TITaq 8167 e° F1I5g QO
D) CITQ I6LIR2I gR€l K60 1e° 6018w 987 0N

78) Which of the following specific characteristics are found
in Monocots?

A) The leaves have a reticular venation
B) The vascular bundles are arranged in a ring form
C) The seed of a plant is made up of two cotyledon
D) The leaves have a parallel venation

78) NRQIRULIER A6TIa FlIQ 674 Fal F6ATR 9EE ?

A) 989eFRa FINFG JASRNIA QL8

B) Qqie1 869 gEe 6dINIQIQ QO6a AT 6210 E8
C) ¢8Q 916 908 QIRagea SuIa

D) 9g99Eaq AeIBR ISR Q&

79) Unit cell, the smallest portion of crystal lattice is
characterized by

A) Three parameters, represented by a, 3 and y

B) Three parameters, represented by a, band ¢

C) Sixparameters, represented by a, b, ¢, a, Band y
D) Four parameters, represented by a, B, y and A

79) 95 SIRA Yo7 29T 690 9AT 69R FIAI FEETVITIY 2168

A) g, B9 y g6l goaye 48 aaee

B) a, b4a° c glal g6GyQ GGG alaeg

C) a,b, ¢, B 9a°y 9101 gGTQ 827 098
D) a, B, y<¥e° A 9IaI gEGyQ QI6E AI0ee

80) Which of the following statements is INCORRECT
properties of the gases?

A) Gases have high compressibility

B) Gases have fixed volume and shape

C) Gases have very low density as compared to solids and
liquids

D) Gases undergo diffusion freely

80) F64)I8 6296 QI A 9N AR Gl 26T ?

A) QI @ 219 QF CERTS [ AF

B) ouiq @ 43 260! 6 ZIRIR 28

C) @0@ 6 GaR AeKl GRAIER GUIq @ 26 A9 AFS! 28
D) oNIg 26 AL@6R JAIRS 99
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81) Read the following question and choose the CORRECT
option from the following.

A drawn bow possesses mechanical energy in the form of
elastic

1. Potential energy

2. Kinetic energy

A) neither option 1 and 2
B) option 2 only

C) both option 1 and 2
D) option 1 only

81) GeJ6a GEIIRQ g¢ 99 9e° 00X Fe8 QI8
SEINIREQI IR g IS 98 gIg 621ReIN, 9T Quea GRI0e

1. 862 42

oo
2. 009 da

A) 1 &9 267163 398 g8
B) 629% G@9 2

C) 90Q &aag 1 99° 2

D) caeq Sagl

82) What is covalent bond?

A) itis the intra-atomic linkage resulting from electron pair
sharing between the two atoms
B) itis the inter-atomic linkage resulting from no sharing of
electron pair between the atoms
C) it is the intra-atomic linkage resulting from no sharing of
electron pair between the atoms
D) it is the inter-atomic linkage resulting from electron pair
sharing between the two atoms

82) 6xIIENE Q8 /4L QELIFT 9 @€ 26T 7

A) 996 QaFI FIER FERERIR YOI ALRITER 622!
2IBIAQFIGITS A6 -

B) QQfII¢ A FI6A REAERIR JOFQ T0I ALRNGER 6204
2edIerKae A6IC1AaE

C) QQAI¢ 4R R QERER, IR YINE 31 ATAITEA 62RLS!
AIBIARFIGTS A6

D) 9af Jasig F6R AERERIR YIRS ALRISER 62923
22dIarKIea AEACIR0E -

WtsApp/Call- 8596976190

83) Chlorobenzene can be converted into phenol by heating
in aqueous sodium hydroxide solution at

A) 300K temperature & 273 atm pressure
B) 421K temperature & 524 atm pressure
C) 623K temperature & 300 atm pressure
D) 632K temperature & 400 atm pressure

83) IR 6B, §EY 6966 QY AAR TIAI CRIER 66HR
6T6RIR 60 AGRERS g9

A) 300K SIgIgl 9&° 273 atm QIgFERIE o10
B) 421K QIQ€IgI 48° 524 atmaIgeaais 9Id
C) 623K QIaeIgl 49° 300 atm QIFASRIA 9Ia
D) 632K @IaflIgl 96° 400 atm SIgASR1E Q10

84) Select the CORRECT statement from the following, that
involves Sn1 reaction

A) Greater the stability of carbocation, greater will be its
ease of formation from alkyl halide with faster reaction rate
B) Greater the stability of carbocation, greater will be its
ease of formation from alkyl halide with slower reaction rate
C) Greater the stability of carbocation, greater will be its
ease of formation from aryl halide with absence of reaction
rate

D) Greater the stability of carbocation, greater will be its
ease of formation from aryl halide with slower reaction rate.

84) Sn1 98Tl Araeq A0R 9B Qle:

A) RIEQERAR Q TG 6T6@ 6941 24, 2INIAR IRQ AL 1R
§1e YETA LI FIQ 66G ALRER 9T JLS 6TIRIER

B) Q69694 @ §0GI 6060 69491 DY, ANAR DUIRG AL Y2IQ
(129 9oa L8 910l 6960 AL@6R 92l 99E 6210KI6R

C) @I6QI6@4] Q Fa0! 6460 6241 94 ZRIRR NG AL IL1R
§1g gEGQI 210 AQUEtea Aee6a M2l 9@ 62IadIse

D) Q6916991 @ 300! 6060 6341 29, AIRR LING A2 1LIR
129 9554 2R FIRI 6265 ILREQ 92l IR 6T,
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85) Ribosomes are the sites of protein synthesis in the cells
and are chiefly composed of

A) xanthophyll pigments
B) chlorophyll pigments
C) ribonucleic acid

D) deoxyribonucleic acid

85) Q6QI64I¢] 6963 6RNTEA 64I5] O 6T A6HTE @ 419 99° D
61108 Q191 FIRl 900 62IREN QIR1 62! :

qerITn e
g 20q edes
6RIQIETRR &G

@
GAACIIFYRAR IR

86) Motion is defined as

) change in mass of an object over time
) change in time and distance

) change in speed over time
)

A
B
C
D) change in position of an object over time

86) 96 Q AGRIAI 6TMI

A) 60IGN 90 9gQ AE 9661 U] 624
B) Q79 9 9RGR UGRER

C) Q10 9651 9gA 699160 TAFER

D) Q0% 966 Q%R 29AG6q UGR

87) Choose the CORRECT option from the given below
classification of plastids with respect to their pigments.

A) Chloroplast = colorless plastids; Chromoplasts =
carotenoid; Leucoplasts = chlorophyll

B) Chloroplast = chlorophyll; Chromoplasts = carotenoid:;
Leucoplasts = colorless plastids

C) Chromoplasts = chlorophyll; Chloroplast = carotenoid;
Leucoplasts = colorless plastids

D) Chromoplasts = chlorophyll; Chloroplast = colorless
plastids; Leucoplasts = carotenoid

87) o6 Q2 AIn 2ol §aa AU 9Ideq 996A4 2QAIER Q18

A) 20 A9 = 94 218 QIFQ 4 ; 69I6AIYIN —RERITING ;
QUERIYE.. =6RIEAT

B) 20Q Re@ =6RI6QITN 69I671I8Y=26RU65IT ;
QUERIAL...=94 219 QIFQ Q;

C) 20Q ALR=6RUSAUTR
69I6QIGIT=R6RIETTIG:QIERIGRY.. =94 216 QI8Q Q;

D) 208 ALe=6%16aIT0 6RU6IgI=9d 210 Q8]
QIR VI=RERACTIR

88) Which of the following things force CANNOT do on a
body?

A) It can change the speed of a body

B) It can change the direction of motion of a body
C) It can change the shape of the body

D) It can change the mass of the body

88) FARYS (1R 609 IR 92 QTR TIFE ?

A) 921 9gQ 6991g Q@RIR AIRe

B) <2l 4@ 9gQ 699 GOg QaIa AIfe
C) 921 Q¢Q RO QeI I8e

D) <2I9ga 9gQq Q@rIa aige

89) Who among the following scientists was the first to
introduce the Smallpox vaccine?

A) Paul Ehrlich

B) Louis Pasteur
C) Robert Koch
D) Edward Jenner

89) GNP 6TRITRNIRE CRIQ G Tel6F 942 6RISIA TR QIRIR
QoM ?

A) 9 990RR
B) Q& Q1Qa

C) 99¢ @9

D) 994IE 669Q
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90) Bacille Calmette-Guerin, (BCG) is a vaccine for which of
the following diseases?

A) Pneumonia
) Tetanus
) Cholera
)

B
g
D) Tuberculosis

90) QIdR-RINEAS-F69aR, (33F) FIRYS 621 6QITR 1R 26T
?

A) Feqi@ell
B) QeI
C) 2a%!
D) <<l
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Question Paper No: 47071 76
Answer Key
I. A 31.B 61. A
2. C 32.A 62. B
3. D 33.A 63. B .
4. D 34.A 64. D
3. & 2. D 63 L
6. C 36.C 66. B
LA 3O 610
8. C 38.A 68. D
9. D 39.D 69. C
10.C 40.A 70. D
I11.A 41.D 71. C
12.B 42.A J2. C
13.D 43.B 73. B
14.D 44.C 74. C
1500 d5.A 15 €
l6.C 46.C 76. B
17.B 47.D 77. B
18.C 48.A 78. D
19.D 49.A 79. C
20.D 50.C 80. B
21.A S51.A 81. D
22.D 52.D 82. D
23.C 53.B 83 9
24.A 54.C 84. A
25.A 55.D 8. C
26.D 56.A 86. D
27. CAST. DS 87, B
28.D 58.B 88. D
20.BW9.C 89. D
30,A 60.B 90. D
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